Math 16C (De Loera) Name: SO LV | I 0 M

Mid-term exam 2 Student ID# ——
May 28 2010 Section number

DO NOT TURN THIS PAGE UNTIL INSTRUCTED TO DO SO
Fill in the information above (your name, etc) now

Show your work on every problem. Correct answers with no support work will not
receive full credit. Be organized, clean, and use the notation appropiately. No calcu-
lators are allowed, nor is any assistance from classmates, notes, or books. You should
only have a writing and an erasing implement on your desk.
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Please write legibly!!
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1. (7 points from Homework 4, 7.8, 33:) Compute the integral [ f; e dady.
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2. (8 points) Find the volume of the solid bounded by the graphs of the surfaces with equations

z= (2y), 2 =0,y =0, 2+y =4, and z = 0. Draw the planar region over which you are

integrating. e + I

T e Y U=x Z’}‘{L
XY d d;\
+ i
0o O ‘\\4_/&
Y BRCEL
- Xy \
R%W/Aloflf\j{wﬁmhor\ 3 A
Y
u
. % (4=x d X
z
0
P\\“ « (16=Bx +x") X
T
T ; ) L (U
___X (x — "+ lox)dx J( 8+ 16y
. 7 4 B Z A
P i
3
Yo Jet oWy
3 & L3
P P s B



DO‘V\)V \IOJIN(Z gjr SJ(efC 6%0&«/1/1 [\ YO_A

3. (8 points) Which of the following sequences and series converge? Remember to justify your answer!
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4. (7 points)

(a) (Homework 6, 10.4, 29) Using Taylor’s theorem find the first five terms of the power series
centered at ¢ = 0 for the function f(z) = 1/(:1:1+ 1).

(b) For which values of z does the power series 5%, "1(}: _:1:)”2)“ converge? €NoU6H to Show
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